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Class: ______________  Name: ______________ 

 

[1-4] Complete the sentences. 

 

1. Aquatic therapy provides several _________. 

2. Some people develop _________ eating habits in their teens. 

3. Then, is there an _________ number that brings bad luck? 

4. Let’s walk, ride a bicycle, and use public _________! 

 

[5-8] Choose the correct meaning of the underlined words. 

5. But unlike ice hockey, underwater hockey requires players to swim, not to skate. 

ⓐ suffers ⓑ concentrates ⓒ needs 

6. Doctors generally recommend around eight glasses of water a day. 

ⓐ receive ⓑ suggest ⓒ overeat 

7. That means the position of a digit in a number determines its value. 

ⓐ decides ⓑ considers ⓒ melts 

8. Billions of trees absorb carbon dioxide every year and convert it to oxygen. 

ⓐ provide ⓑ bring ⓒ change 

 
 

 

[9-11] Read and answer the questions.  

 

 

 

 

 

 

Progress Test  Units 9-16 

Underwater hockey has a similar objective as ice hockey: score goals. But 

unlike ice hockey, it requires players to swim, not to skate. The rules of the 

game are simple. There are two teams with six players each. Players pass a 

puck with a stick. They score goals by shooting the puck into a goal tray. 

However, the game takes place underwater. Players must stay underwater until 

somebody scores a goal. 

transportation  unlucky          benefits      unhealthy 

 

Smart Reading 6.2 

 
Score: ___ /20 
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9. What is the paragraph mainly about? 

ⓐ the history of underwater hockey 

ⓑ the rules of underwater hockey 

ⓒ the equipment for underwater hockey 

 

10. What does the underlined word mean? 

ⓐ happens ⓑ improves ⓒ participates 

 

11. What is NOT true about underwater hockey? 

ⓐ It has a similar objective as ice hockey. 

ⓑ It requires players to skate, not swim. 

ⓒ It takes place underwater. 

 

[12-13] Read and answer the questions. 

 

 

 

 

 

12. What is the correct word for the blanks? 

ⓐ equipment ⓑ patient ⓒ sign 

 

13. Which is the best place for the following sentence? 

 

 

ⓐ (A) ⓑ (B) ⓒ (C) 

 

 

 

 

 

 

(A) The first _________ of dehydration is thirst. As soon as you feel thirsty, 

you should drink a glass of water. (B) Dry eyes, mouth, and skin are also signs 

that your body is thirsty. If you feel tired and cannot concentrate, try drinking 

water. When your body is thirsty, you may also feel dizzy. (C) Dark yellow urine 

is another _________ that you need to drink more water. 

Dehydration happens when your body does not have enough water. 
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[14-16] Read and answer the questions.  

 

 

 

 

 

 

 

 

 

 

 

14. What is the correct word for the blanks?  

ⓐ position ⓑ century ⓒ luck 

 

15. What is NOT a function of zero? 

ⓐ a number ⓑ a placeholder ⓒ a letter 

 

16. What can be inferred from the paragraphs? 

ⓐ The value of a number depends on its position. 

ⓑ Zero is not important at all. 

ⓒ Numbers mean the same without zeros. 

 

[17-20] Read and answer the questions.  

 

 

 

 

 

17. What is true from the paragraph? 

ⓐ Melting glaciers do not affect people in mountainous regions. 

ⓑ The Gangotri Glacier is the main source of water for the Ganges River. 

ⓒ The Ganges River feeds salt water to the people of India and Bangladesh. 

Look at the pictures and say the numbers. Then, cross out the zeros and say 

them again. Do the numbers mean the same as before? No. It is because zero 

has two functions in our numeral system. It is both a number and a 

placeholder. 

Our numeral system is a place value system. That means the _________ of a 

digit in a number determines its value. Take the number 327 as an example. 

The first digit 3 means three hundreds. The second digit 2 means two tens. 

And the last digit 7 means seven ones. 

Then, what do we do to express the number three hundred and seven? We 

use zero as a placeholder for the tens _________ and write 307. 

One ____(A)___ is how melting glaciers affect people in mountainous regions. 

The Gangotri Glacier is one of the largest glaciers in the Himalayas. It is the 

main source of water for the Ganges River. The Ganges River feeds freshwater 

to the land of India and Bangladesh. It ____(B)___ over 400 million people 

with drinking water. However, its main source is disappearing. 
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18. What is the correct word for each blank? 

      (A)  –  (B) 

ⓐ concern – melts 

ⓑ concern – provides 

ⓒ habitat – provides 

 

19. What does its refer to? 

ⓐ the Gangotri Glacier’s ⓑ the Himalayas’ ⓒ the Ganges River’s 

 

20. The Ganges River provides freshwater to the land of India and Bangladesh. 

= The Ganges River _________ freshwater to the land of India and Bangladesh. 


